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6 SQLYHUVLIN 3RILF\ SHVFLQGV 6 DQG )
3HUIDLQLQJ R 7HFKQRIRJI\ SHIDIHG $GYLVRU\ %RDUGV

/HILVIDILYH +LVIRUN\

$I IV PHHILQJ RI )HEUXDU\ IKH $FDGHPLF 6HQDIH DSSURYHG #KH IRIRZLQJ
SRILF\ UHFRPPHQGDILRQ SUHVHQIHG E\ 6HQDIRU 6KLIHIl IRU IKH 2UJDQL]DILRQ DQG
*RYHUIQPHQI &RPPLIHH  8QLYHUVLIN 3RILF\ 6 HVIDEWLVKHG IIKH ,QIRUPDILRQ
6\VIHPV DQG &RPSXILQJ $GYLVRU\ %RDUG DQG 8QLYHUVLN 3RIF\ ) DGGHG D
PHPEHU IR IKLV ERDUG  7KH ,QIRUPDILIRQ 6\VIHPV DQG &RPSXILQJ $GYLVRU\ %RDUG
ZDV HYHQIXDO\ UHSIDFHG EN IKH &,2 $GYLVRUI\ %RDUG 7KH &,2 $GYLVRU\ %RDUG

ZDV IKHQ GLVVRIYHG EN\ 8QLYHUWVLUN 3RILF\ 6 lQ 8QLYHUVUN 3RILFLHV 6
DQG ) VKRXIG KDYH EHHQ UHVFLQGHG DIl KDV ILPH EXW ZHUH RYHUWRRNHG

7KLV SRILF\ UHVFLQGV ERIK 6 DQG )

S5HVFLQGV 6 DQG )

$SSURYHG DQG VLIQHG E\
3UHVLGHQI ODU\ $ 3DSD]LDQ RQ

~DOXDU\
SQLYHUVLIN 3RILF\
5HVFLQGV 6 DQG ) 3HUIDLQLQJ IR 7HFKQRIRJI\

5HIDIHG $GYLVRU\ %RDUGV

= KHUHDV 7KH ,QIRUPDILRQ 6\VIHPV DQG &RPSXILQJ $GYLVRU\ %RDUG ZDV GLVVRIYHG LQ
6 DQG UHSIDFHG ZLUIK D &,2 $GYLVRI\ %RDUG DQG

= KHUHDV 7KH &,2 $GYLVRU\ %RDUG ZDV GLVVRIYHG LQ 6 DQG

= KHUHDV $I IKDW ILPH  HDUILHU SRILFLHV SHUIDLQLQJ IR IKH ,QIRUPDILRQ 6\VIHPV DQG
&RPSXILQJI $GYLVRU\ %RDUG ZHUH RYHWRRNHG IIKHUHIRUH EH LW

5HVRIYHG 7KDI 6 DQG ) EH UHVFLQGHG



SDILRQDIH 7KLV FRWHFIV DQ RYHWLIKI DQG UHVFLQGV SRILFLHV UHIDIHG IR FRP PLIlIHHY
ZKIFK QR (RQJHU H[LVIV

$SSURYHG

ORIH

3UHVHQI /DNHU 6KLIHI %RHNHPD SDINRYLF +DUI *URVYHQRU
2UPVEHH 7UDQ

$SEVHQI %DUH\ +JJIQV

)IQDQFLDI ,PSDFI 1RQH
= RINIRDG ,PSDFI 1RQH



